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1. Texymuii peMonT 001HEr0 UMYIIECTBA 3,43 3,24 2,87 3,29 5,4 5,17 1,88 2,38
1.1. .| Texymuit peMOHT KOHCTPYKTHRHBIX 371EMEHTOB 3IaHMUi 1,88 1,78 1,57 1,8 2,7 2,59 1,01 1,51
1.2. Texymmii peMOHT 0011EAOMOBBIX HEXEHEPHBIX CeTel 1,55 1,46 1,3 1,49 2,7 2,58 0,87 0,87
2. Copepxanue 0011ero nyMyuecrsa
2.1. Texuuueckoe 0GCay:KHBANNE: 3,92 3,92 3,92 3,92 3,92 3,92 .34 2,89
2.1.3. - ODIEAOMOBEIX UIDKEHEPHBIX ceTel 2,17 2,17 2,17 2,17 2,17 2,17 1,98 1,68
2.1.5. |- KpoBOM, YEPAAKOB U/YMK [OIBATIOB 1,34 1,34 1,34 1,34 1,34 1,34 1,01 0,87
2.1.6. |- BHYTPHAOMOROrO ra3oBoro 060pyA0BaHKs 0,34 0,34 0,34 0,34 0,34 0,34 0,34 0,34
2115, | TEXHH1ECKOE TUArHOCTHPOBAHME BHYTPHAOMOBOTO [a30BOT0 0,07 0,07 0,07 0,07 0,07 0,07 0,07 0
obopyzosanys .
2.2. Texnruueckuii ocMoTp: 1,1 1,1 1,1 L1 LI 1,1 1,1 1,02
2.2.3. |- obimenoMoBbIX HHKEHEPHBIX ceTell 0,38 0,38 0,38 0,38 0,38 0,38 0,38 0,34
2.2.5. |- KpOBRIIH, YepAAKOB, IIOABAJIOB 0,38 0,38 0,38 0,38 0,38 0,38 0,38 0,34
2.2.6. |- BHYTpHXOMOBOrO rasoBoro o6opyaoBatus 0,34 0,34 0,34 0,34 0,34 0,34 0,34 0,34
2.3. Apapuiinoe o6ciy:RuBaAHHE: 1,90 1,90 1,96 1,90 1,90 1,90 1,90 1,90
2.4. CaunnrapHoe cofiepxanMe u 61400y CTpoiicTBO: 2,86 2,86 2,86 2,86 2,86 2,86 2,86 2,86
2.4.1. - yBopKka NpHaoMOBOI TEPPHTOPMH 2,5 2.5 2.5 2,5 2,5 2.5 2,5 2.5
2.4.5. |- mepaTuzauds U Je3HHCEeKIMs 0,28 0,28 0,28 0,28 0,28 0,28 0,28 0,28
2.4.6. - BaroycTpoiicTBO NPHUAOMOBOIL TEPPHTOPHH 0,08 0,08 0,08 0,08 0,08 0,08 0,08 0,08
3. Ilnara 3a ynpasaenue Biwogan niaty Copery Joma 0,73
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